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[bookmark: _Ref178064866]1	Introduction
During the previous meetings, it was agreed to split the TR to share the workload and appoint Ericsson as editor for the co-existence simulation results section. In the document [1], we shared our additional co-existence simulation results for robustness and with [2], we presented the skeleton for co-existence simulation results. 

An excel sheet [3] was shared with the interested companies to capture the final simulation results that subsequently also plots the graphs, which will later be captured in the TR.

In this document, we present our updated co-existence simulation results for synchronized scenarios on the agreed template [2] which will further be used to formulate the TP consisting of results from all the companies [4].
[bookmark: _Ref189046994]2	Discussion

6.4 Co-existence simulation results

6.4.1 Synchronized Scenarios

6.4.1.1 Scenario 1: 4GHz ATG DL interfering TN DL

This scenario captures the co-existence results after evaluation from all possible options. Here ATG DL with both AAS subarray and non-subarray model is interfering TN DL deployed in rural macro environment. 

Table 6.4.1.1-1: Simulation results for Scenario 1 – 4 GHz ATG DL interfering TN DL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG BS ACLR 45 dB

	Ericsson

	Non-Subarray
	5% in the whole network
	0.10

	
	
	Average of all users in the whole network
	0.01

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	2.47

	
	
	Average of all users within the cell with largest throughput loss for the case of TN DL victim
	0.27

	
	Subarray
	5% in the whole network
	0.04

	
	
	Average of all users in the whole network
	0.01

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	0.91

	
	
	Average of all users within the cell with largest throughput loss for the case of TN DL victim
	0.24




6.4.1.2 Scenario 2: 4GHz ATG UL interfering TN UL

This scenario captures the co-existence results after evaluation from all possible options. Here ATG UL with both AAS subarray and non-subarray model is interfering TN UL deployed in rural macro environment. 

Table 6.4.1.2-1: Simulation results for Scenario 2 – 4 GHz ATG UL interfering TN UL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG UE ACLR 30 dB

	
	
	
	Maximum distance between ATG BS and ATG UE

	
	
	
	100 km
	300 km

	Ericsson

	Non-Subarray
	5% in the whole network
	0.00
	0.00

	
	
	Average of all users in the whole network
	0.00
	0.00

	
	
	5% of users within the cell with largest throughput loss for the case of TN UL victim
	0.05
	0.05

	
	
	Average of all users within the cell with largest throughput loss for the case of TN UL victim
	0.00
	0.00

	
	Subarray
	5% in the whole network
	0.00
	0.00

	
	
	Average of all users in the whole network
	0.00
	0.00

	
	
	5% of users within the cell with largest throughput loss for the case of TN UL victim
	0.03
	0.03

	
	
	Average of all users within the cell with largest throughput loss for the case of TN UL victim
	0.01
	0.01





6.4.1.3 Scenario 3: 4GHz TN DL interfering ATG DL

This scenario captures the co-existence results after evaluation from all possible options. TN DL with both AAS subarray and non-subarray model is interfering ATG DL deployed in rural macro environment. 

Table 6.4.1.3-1: Simulation results for Scenario 3 – 4GHz TN DL interfering ATG DL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG UE ACS 33 dB

	
	
	
	Maximum distance between ATG BS and ATG UE

	
	
	
	100 km
	300 km

	Ericsson

	Non-Subarray
	5% in the whole network
	3.60
	7.02

	
	
	Average of all users in the whole network
	1.35
	2.22

	
	Subarray
	5% in the whole network
	6.35
	11.93

	
	
	Average of all users in the whole network
	1.97
	3.21




6.4.1.4 Scenario 4: 4GHz TN UL interfering ATG UL

This scenario captures the co-existence results after evaluation from all possible options. Here TN UL with both AAS subarray and non-subarray model is interfering ATG UL deployed in rural macro environment. 

Table 6.4.1.4-1: Simulation results for Scenario 4 – 4GHz TN UL interfering ATG UL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput loss (%) at ATG BS ACS 46 dB

	Ericsson

	Non-Subarray
	5% in the whole network
	1.08

	
	
	Average of all users in the whole network
	0.34

	
	Subarray
	5% in the whole network
	0.91

	
	
	Average of all users in the whole network
	0.49



6.4.1.5 Scenario 9: 2GHz ATG DL interfering TN DL

This scenario captures the co-existence results after evaluation from all possible options. Here ATG DL with both AAS subarray and non-subarray model is interfering TN DL deployed in rural macro environment. 

Table 6.4.1.5-1: Simulation results for Scenario 9 – 2GHz ATG DL interfering TN DL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput loss (%) at ATG BS ACLR 45 dB

	Ericsson

	Non-Subarray
	5% in the whole network
	0.16

	
	
	Average of all users in the whole network
	0.03

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	5.38

	
	
	Average of all users within the cell with largest throughput loss for the case of TN DL victim
	0.76

	
	Subarray
	5% in the whole network
	0.02

	
	
	Average of all users in the whole network
	0.03

	
	
	5% of users within the cell with largest throughput loss for the case of TN DL victim
	1.51

	
	
	Average of all users within the cell with largest throughput loss for the case of TN DL victim
	0.74



6.4.1.6 Scenario 10: 2GHz ATG UL interfering TN UL

This scenario captures the co-existence results after evaluation from all possible options. Here ATG UL with both AAS subarray and non-subarray model is interfering TN UL deployed in rural macro environment. 
Table 6.4.1.6-1: Simulation results for Scenario 10 – 2GHz ATG UL interfering TN UL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput loss (%) at ATG UE ACLR 30 dB

	
	
	
	Maximum distance between ATG BS and ATG UE

	
	
	
	100 km
	300 km

	Ericsson

	Non-Subarray
	5% in the whole network
	0.02
	0.32

	
	
	Average of all users in the whole network
	0.04
	0.20

	
	
	5% of users within the cell with largest throughput loss for the case of TN UL victim
	1.00
	4.38

	
	
	Average of all users within the cell with largest throughput loss for the case of TN UL victim
	0.07
	0.37

	
	Subarray
	5% in the whole network
	0.13
	0.42

	
	
	Average of all users in the whole network
	0.02
	0.14

	
	
	5% of users within the cell with largest throughput loss for the case of TN UL victim
	0.79
	3.84

	
	
	Average of all users within the cell with largest throughput loss for the case of TN UL victim
	0.04
	0.28



6.4.1.7 Scenario 11: 2GHz TN DL interfering ATG DL

This scenario captures the co-existence results after evaluation from all possible options. Here TN DL with both AAS subarray and non-subarray model is interfering ATG DL deployed in rural macro environment. 

Table 6.4.1.7-1: Simulation results for Scenario 11 – 2GHz TN DL interfering ATG DL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG UE ACS 33 dB

	
	
	
	Maximum distance between ATG BS and ATG UE

	
	
	
	100 km
	300 km

	Ericsson

	Non-Subarray
	5% in the whole network
	3.62
	7.85

	
	
	Average of all users in the whole network
	2.45
	3.92

	
	Subarray
	5% in the whole network
	3.45
	8.21

	
	
	Average of all users in the whole network
	2.59
	4.08



6.4.1.8 Scenario 12: 2GHz TN UL interfering ATG UL

This scenario captures the co-existence results after evaluation from all possible options. Here TN UL with both AAS subarray and non-subarray model is interfering ATG UL deployed in rural macro environment. 

Table 6.4.1.8-1: Simulation results for Scenario 12 – 2GHz TN UL interfering ATG UL
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG BS ACS 46 dB

	Ericsson

	Non-Subarray
	5% in the whole network
	2.01

	
	
	Average of all users in the whole network
	0.55

	
	Subarray
	5% in the whole network
	3.23

	
	
	Average of all users in the whole network
	0.68
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